
197

PISTON PUMPS

A
3

H
G

 S
er

ie
s

A3HG Series High Pressure Variable Displacement Piston Pumps 
Load Sensing Type

DEC.

DEC.

INC.

INC.
INC.

INC.

■ Flange Mtg.:A3HG145-FR14K-E1D/E2D/U1D/U2D/J1D

■ Flange Mtg.:A3HG180-FR14K-E1D/E2D/U1D/U2D/J1D

■ Drain Port

■ Foot Mtg.:A3HG145-LR14K-E1D/E2D/U1D/U2D/J1D, A3HG180-LR14K-E1D/E2D/U1D/U2D/J1D

■ Load Sensing Port/Pilot Port

Drain Port is common to that of pressure compensator model.Refer to page 174 or 175 for the dimensions of Drain Port.

Mounting bracket is common to that of pressure compensator model.   
Refer to page 174 and 175 for the dimensions of mounting bracket.

Load Sensing Port is common to that of Pilot Port (except the height dimension from the center of the pump).
Refer to page 179 for the dimensions of Pilot Port.

★3. Install the pump so that the "Filling Port" is at the top.

★2.
★1.

Remove the plug when using the port (6 Hex. Soc.).Also the pilot port adapter is not standard
accessory, so it must be ordered separately refering to the “Pilot Port” on page 179.

Remove the plug (6 Hex. Soc.), install piping with refering to the graphic symbol on page 191.

★3. Install the pump so that the "Filling Port" is at the top.

★2.
★1.

Remove the plug when using the port (6 Hex. Soc.).Also the pilot port adapter is not standard
accessory, so it must be ordered separately refering to the “Pilot Port” on page 179.

Remove the plug (6 Hex. Soc.), install piping with refering to the graphic symbol on page 191.

Model Numbers A B C

A3HG145-FR14K-U1D

A3HG145-FR14K-E1D/E2D

A3HG145-FR14K-J1D

A3HG145-FR14K-U2D

M12

M12

M12

22

22

22

92

G 3/4

G 3/4

G 3/4

M27×2

75

75

75

211/2-13 
UNC

D E F H P Q R SJ K L N

9

12.7

12.7

12.7

Mounting Flange

Conforms to ISO 3019-2

Conforms to ISO 3019-1

Conforms to ISO 3019-1

Conforms to ISO 3019-1

Pipe Flange 
Threads

MetricMetric

Metric

Metric

UnifiedUnified

BSPP

Rc

Connecting 
Port

+0.018
+0.002

+0.018 
-0.288 180  0

-0.063

 0
-0.18
 0
-0.18
 0
-0.18

 0
-0.05152.4

152.4

152.4

 0
-0.05
 0
-0.05

82

67

67

67

 0
-0.05

 0
-0.05
 0
-0.05

 0
-0.04314

 +0.03
   0
 +0.03
   0

11.11

11.11

11.11 +0.03
   0

M16 36

32

32

32

158.4

161.6

161.6

161.6

18

21.5

21.5

21.5

T

35

39

39

39

1/2-13 
UNC

70

56

56

56

45

44.45

44.45

44.45

48.5

49.39

49.39

49.39

View Arrow X

Model Numbers A B C

A3HG180-FR14K-U1D

A3HG180-FR14K-E1D/E2D

A3HG180-FR14K-J1D

A3HG180-FR14K-U2D

M16

M16

M16

29

29

29

92

G 3/4

G 3/4

G 3/4

M27×2

75

75

75

295/8-11 
UNC

D E F H P Q R SJ K L N

9

12.7

12.7

12.7

Mounting Flange

Conforms to ISO 3019-2

Conforms to ISO 3019-1

Conforms to ISO 3019-1

Pipe Flange 
Threads

MetricMetric

Metric

Metric

UnifiedUnified

BSPP

Rc

Connecting 
Port

+0.018
+0.002

+0.018 
-0.288 180  0

-0.063
 0
-0.18
 0
-0.18

 0
-0.05152.4

152.4

152.4

 0
-0.05

82

67

67

67

 0
-0.05
 0
-0.05

 0
-0.04314

 +0.03
   0
 +0.03
   0

11.11

11.11

11.11

M16 36

32

32

32

158.4

161.6

161.6

161.6

18

21.5

21.5

21.5

T

35

39

39

39

1/2-13 
UNC

70

56

56

56

45

44.45

44.45

44.45

48.5

49.39

49.39

49.39 Conforms to ISO 3019-1 0
-0.18

 0
-0.05

 0
-0.05

 +0.03
   0

22

27 Hex. Head Plug Furnished
Filling Port★3

D

Q

E

F

S T
R

220

“C” Thd.
Drain Port 

13
8.

5

21
0

H
 D

ia
.

K
 D

ia
.J

R

“N” Thd.
“P” Deep

5 Hex. Soc.
Case Drain Port

13 Hex.

Differencial Press.
Load Sensing

Adj. Screw
Safety Valve
Pressure Adj. 
Screw
14 Hex.

26

345.5
321.5

254.5

193.5

74

31.8

266.5

Fully Extended

L

323.5
Attachment Side

66
.7

Plain Washer
Hex. Hd. Screw

Discharge Port
34 Dia.

4 Places
“A” Thd. “B” Deep

Pilot Port

Load Sensing Port

123 123

72

81.5

Suction Port
Surface of

Flow Adj. Screw
19 Hex.

Surface of
Discharge Port

M14×1.5 Thd.
Load Sensing Port

Suction Port
63 Dia.

4 Places
50.8

“A” Thd. 
“B” Deep

88
.9

17
7.

5
17

3.
5

12
9

Seal Cover
End Cover

266.5

★1

Pilot Port
M14×1.5 Thd.

★2

(With a plug)

(With a plug)

X

129

66
75.5

129Pilot Port
M14×1.5 Thd.

★2

Suction Port
Surface of

Flow Adj. Screw
19 Hex.M14×1.5 Thd.

Load Sensing Port

Surface of
Discharge Port

(With a plug)

(With a plug)

★1

297.5

61.9

10
6.

4

View Arrow X

Suction Port
76 Dia.4 Places

“A” Thd. 
“B” Deep

79
.4

Seal Cover
End Cover

Plain Washer
Hex. Hd. Screw

Discharge Port
44 Dia.

4 Places
“A” Thd. “B” Deep

18
1.

5
13

8

X

19
0

384.5
352.5

281.5

220.5

86

D

E

F

L

14
8

Fully Extended

27 Hex. Head Plug Furnished
Filling Port★3

“C” Thd.
Drain Port 

H
 D

ia
.

K
 D

ia
.J

“N” Thd.
“P” Deep2436.5

297.5
362.5

Attachment Side
5 Hex. Soc.
Case Drain Port

Pilot Port

Load Sensing Port
27.5

S
R

T

Q

21
0

R

220

13 Hex.

Differencial Press.
Load Sensing

Adj. Screw
Safety Valve
Pressure Adj. 
Screw
14 Hex.


